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07-June-2019 Batch2 D.ELEd Odia

Section 1 - Paperl-English Language

1) Select the correct option.

We got our son dog for Christmas.

2) Find the most appropriate opposite meaning word:
ARTIFICIAL

A) Natural
B) Red
C) Solid
D) Truthful

3) Which of the following options is incorrect?

A) Children - Childrens
B) Cat - Cats

C) Eye - Eyes

D) Dress - Dresses

4) Select the correct form of verb from the given options.
Speak up! | can’t hear you because your dog
too much naoise.

A) is making
B) had made
C) made

)

D) makes

5) Choose the most appropriate similar meaning word:
EXTRICATE

Read the passage and answer the questions that follow:

Silk is a natural protein fiber, some forms of which can be
woven into textiles. The protein fiber of silk is composed
mainly of fibroin and is produced by certain insect larvae
to form cocoons. The best-known silk is obtained from the
cocoons of the larvae of the mulberry silkworm Bombyx
mori reared in captivity (sericulture). The shimmering
appearance of silk is due to the triangular prism-like
structure of the silk fibre, which allows silk cloth to refract
incoming light at different angles, thus producing different
colors. Silk is produced by several insects; but, generally,
only the silk of moth caterpillars has been used for textile
manufacturing. There has been some research into other
types of silk, which differ at the molecular level. Silk is
mainly produced by the larvae of insects undergoing
complete metamorphosis, but some insects such as
webspinners and raspy crickets produce silk throughout
their lives. Silk production also occurs in Hymenoptera
(bees, wasps, and ants), silverfish, mayflies, thrips,
leafthoppers, beetles, lacewings, fleas, flies, and midges.
Other types of arthropod produce silk, most notably
various arachnids such as spiders. Several kinds of wild
silk, which are produced by caterpillars other than the
mulberry silkworm, have been known and used in China,
South Asia, and Europe since ancienttimes. However, the
scale of production was always far smaller than for
cultivated silks. There are several reasons for this: first,
they differ from the domesticated varieties in colour and
texture and are therefore less uniform; second, cocoons
gathered in the wild have usually had the pupa emerge
from them before being discovered so the silk thread that
makes up the cocoon has been torn into shorter lengths;
and third, many wild cocoons are covered in a mineral
layer that prevents attempts to reel from them long strands
of silk. Thus, the only way to obtain silk suitable for
spinning into textiles in areas where commercial silks are
not cultivated was by tedious and labor-intensive carding.

6) The shimmer in the Silk is because of the

A) different coloured fibres of the silk

B) fibroin- protein fibre of the silk

C) triangular prism like structure of the Silk fibre
D) labour intensive carding

Techofwortdin

A) Combine

B) Restrain 7) The Mineral layers on wild cocoons

C) Disentangle

D) Connect A) prevents the extraction of long strands of silk thread
B) prevents the breakdown of silk thread structure
C) gives the silk thread a special Shine
D) makes the Silk thread stronger

Page1of24
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8) Reeling long strands of silk thread from wild cocoons is
difficult because

A) wild cocoons are shorter in length TeCh OfWC

)
B) the emerging Pupa eats it

C) the cocoon is torn by the Pupa emerging from it
D) silk strands of wild cocoons are brittle

9) The best known silk is obtained from the cocoons of
which of the following?

A) Webspinners

B) Lacewings silkworm
C) Mulberry silkworm
D) Raspy cricket

10) The wild silk used by the ancient Chinese is from

A) Caterpillar

B) Lacewings

C) Silverfish

D) Mulberry silkworm
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Section 2 - Paperl-Education and General Awareness
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11) Which of the following commissions stated, “Our
secondary education remains the weakest link in our
educational machinery and needs urgent reforms.”?

A
B
C
D

The Education Commission
National Knowledge Commission
Secondary Education Commission
University Education Commission

—

11) G @FAGgee g &4 Q6% QAZsm 64, 2K d]I6e
NAFEQ ARIFR TN 6298 9@ A QIR LEAIT I IY6Q
URHIDFD QIR QAR |

A) @ 996997 @FQR

B) quaein a6nge @fde

C) 6a6agia1 4g6a2e Afiae
D) gRedd 9geadq @Fae

12) According to the educational structure envisaged by
the National System of Education, the right pattern for
5+3+2 system of education is

A) primary+upper primary+high school
B) high school +primary +upper primary
C) high school+upper primary +primary
D) primary +high school + upper primary

12) ILQIR 98 T IPERdR TR QRYS IA9R LA
2ga6a SRIR 5+3+2 Qa9 QIR A0R AIGE 6298

A) glefie+as glefiet ae SR
B) o fupergafiares gefie
C) ag Gaure+as gefe+gedia

D) glefie+ae GauRa+ @ gefe

13) The most abundant element in the earth’s atmosphere
is

A) Hydrogen
B) Nitrogen
C) Oxygen
D) Argon

13) Q2IR1Q QIYALRER 639 QAIQIS AGOIQ 2R FReI?

A) Ges

B) acmiosie
C) zggrie

D) zigiq

14) To facilitate meeting of urgent unforeseen expenditure
by the government, pending an authorisation from
Parliament which of the following is an imprest placed at
the disposal of the President of India?

A) Contingency Fund of India
B) Public Fund of India

C) Consolidated Fund of India
D) Emergency Fund of India

14) A9RIQS IR ARHIKER YIQ FEI 2R §F YRS SRR AR,
2°A9Q GRIFSE ARSI JIQ FIAUQ 6aRIR Y9 F6HE RIGGA
QEAET FRTER QLN

A) QIeR f86Rg T4

B) aleoa g o4

C) Quaea @aeanenseq o8
D) QIa0a 16aG e
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15) Which of the following is the highest organization of
educational planning and Administration in India? Te C h

A) University Grants Commission

B) National Institute of Educational Planning and
Administration

C) National Testing Agency

D) The National Council of Educational Research and
Training

15) QEJAUQ 69RF VAGER FVNITG 6LIRR IG° JHIAF ARF
Q°gl 26S?

A) goede g19a afiae
B) a4aQin Qe84 2 IgeadRin QIF° I8 2Iediteaaq
C) QMIQQIR 6986 9687

D) Quiacia QI0eda 2T 9geadfin QS 28 650°
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Section 3 - Paperl-Reasoning
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16) In a certain code language, FISH is written as GKVL.
How is TUNA written in that code language?

16) Y@ 548 AEFER QUVER, FISH @ GKVL 691@ 6msiiN
| TUNA @ 698 Qlsaoe QUgIsa @9qm emglide ?

A) SSKW
B) UWQE
C) UVOB
D) ANUT

17) Instruction:

In the following question, mark:

1, if the question can be answered with the help of
statement | alone.

2, if the question can be answered with the help of
statement |l alone.

3, if the question can be answered with the help of both |
and Il

4, if the question can't be answered at all.
What is the time in the clock now?

Statement | : One hour ago the time was half past 5 pm.
Statement Il : Today is a Sunday.

S8
w N B

17) FeR4IeqT: FIRAYe gg6a
1 596 99g 9T 690 (1294 | AIZINIER 946 288 S2INIRIQE
|

2 599 9913, UF 6999 71294 || AL6ITER JEQ 9e G
dIgE |

3, 9% 909 | 99° || ALERIGES 90 A9 G2IUIR AIGE |
4, 93 g9 Qa9 6968 § GRIPIR 9Ife QIF |

QALI6Q QAR 6R60F /IFE ?

F18QY | : Q91 G6R A9 gml AI6@ 5T |

A3y 1 2IF 97919 |

com2
W N B

18) Instruction: Below mentioned are statements
followed by some conclusions. You have to take the
given statements to be true even if they seem to be at
variance from the commonly known facts. Read all the
conclusions and then decide which of the given
conclusions logically follows from the given statements
disregarding commonly known facts.

Statements:
All the trains are ships.
Some flights are ships.

Conclusions:
1) All the trains are flights.
Il) Some flights are trains.

A) None of the conclusions follow
B) Only Il follows

C) Both I and Il follow

D) Only | follows
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18) F6RGIRRT. 06@ GRAULIRYSI A9 UG 78 7 FAUARE | 19) FeRAIQRT: 06R ARSI N2 U8 78 Fd FUAIRG |
gIEg FULIRER| TG A 691N AIFQIG IFQ ATE § «al 2Igdg QURIRYQ| F1BQ4Yg ALY 6RIR AIFAIg 989 978 & gl
ARIBSER KENRYS| VAOIR §F 6QVAILEN | 2NQ Fad]y 903 QARIBIEA FEIIR] BAIOIR 6 6IAIRAN | AN Fadyg 9eg
Q° QIO6R A9@ G2y, GIIRERl Fad AR 6RKEI ARG 4@ QI06Q A6 G2g, FRINIRgR Fad FQ 6RUS! ARIRER
@412 B4R AQFNNR| RLQ F18a4g OF QI6Q LIRS QS | @12 Q2R AQARR 8QER F12a4] OF QIS AGAGE @8 |
FRQY: 29 6EQ goR FIRIF | 8 AURIZIR gEe SRR FI8QY: 6% eNe 9o 6268 ARG | A9 HIR g 6208 AIRY |
. QQ MUKt gER 62T QA9 |

aad:

dad:

) Ag 69F R APRIIF |

o . 1) 6716E QU AIRS G6E]
Il) @8 QOIFIRIF 6268 659 |

1) A9 YRR JEQ 6208 AIR]

A) 6a18d @ Gdiaq 2I9aed fag R1F Ill) Q9 AIRG 9o TR |
B) eraq Il 29Qad @0

C) a0 | 49 Il 29908 @93 A) caes Bed | 2906 6g
D) 6ae® | 292048 @93 B) coeq fad || 2gaed @ag
C) eaer dad Il 2998 @99

19) Instruction: Below mentioned are statements D) 6ql6d @ Gadq 2906 @agaId
followed by some conclusions. You have to take the

given statements to be true even if they seem to be at

variance from the commonly known facts. Read all the

conclusions and then decide which of the given 20) What is the area of a square, if its perimeter is 64
conclusions logically follows from the given statements units?
disregarding commonly known facts.
A) 64 sq.units
Statements: B) 225 sqg.units

Some bulbs are lights. ;
All the fans are lights. C) 256 sq.units
All the lamps are bulbs. D) 250 sq.units

Conclusions:

1) No lamp is light.

Il) All the bulbs are lamps.
IIT) All the lights are fans.

20) 9% 99 CEVGR A6 64 YA 6662 LR 6ASTR 69607

A) 64 sq.units
A) Only conclusion | follows B) 225 sg.units
B) Only conclusion Il follows C) 256 sqg.units
C) Only conclusion Ill follows D) 250 sg.units

D) None of the conclusions follow

Join Us-
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Section 4 - Paperl-Teaching Aptitude
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21) Considering school culture as an iceberg, which of the

following options CANNOT be placed in the immersed
part of the iceberg?

A) Feelings and emotions
B) Policies and Procedures
C) Attitude and values

D) Beliefs and assumptions

21) GRS AFY U@ TS QL6 301 AR, FARIQ 699
3080 §69Q 9F OF el 2ra6a IR AIfe QIF ?

A) QISR 99° 216Gl

B) ¢1& 95° g@al

C) q6R19@ 9e° gRyeal
D) G9ia 9e° Qg%

22) The Maths teacher observed that inspite of making
Radha practice again and again she would soon forget the
method of doing the sum. She was good at other subjects.
Soon the teacher realized that Radha suffered from

A) Dyslexia
B) Dyscalculia
C) Dyspepsia
D) Dysgraphia

22) 980 999 AYY AR 64 QRIIG IR IR ALY FARS A6Q
6d G914 980 919 9 QIRE | 64 254 FAAAIFTER GR FGF |
QR 629260 A1P0 29I JNeg d1g FIdaAIReR ?

A) Gacag
B) Gacingnal
C) @asaadal
D) Gagide

23) A nurse is highly motivated to serve and she is eager
to leamn everything about her profession. Which of the
following laws explains her state of mind?

A) Law of use and disuse
B) Law of Exercise

C) Law of Readiness

D) Law of Effect

23) @66 64 6991 2R3 TIA YK 9Q 6IRd AR FARE I° 62
7@ 6048l FaAcR JI9ER Jgel AR Qg UGR | IIFa AIRdR
2691q FIRGS 699 FAOT QUISHI K6Q ?

A) Q06216 8 QRUEYIF FRLIQ FLE
B) gsaleia Aee

C) agaoia fag
D) gaiaq e

24) To get any school information a U-DISE code is used
in India. What does U-DISE stand for?

A) Unified District Information on School Economy
B) Unified District Innovative School for Education
C) Unified District Information System for Education
D) Union of District Important Society of Education

24) QIRGEA 696a19d YR 4OFI TIRRI TIN 99° G-EGRIRIER

(U-DISE) 691¢ Q4e9e @91dI4| -821a0a9@ (U-DISE) @@6m
@' QEIa?

A) gRaNe F8Q ARTEAAQ AR YN FERIERE

B) gfTNG G8Q 6016068 TQ 9g6RdR

C) ghaNeg 88 araedaq Jan oq Ygeads
D) gfag 2 8r AEAISIY (ARG TQ Ig6wd]

Techofwaorld In
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25) According to ancient Indian texts on education, which

of the following four fundamental goals of human life
means 'deliverance'?

vave Techofworld.In

C) Dharma
D) Kama

25) d9l AAR6R LR ISR FRYes AQUIR F6aIs Agsey
F190Q SI6QIT 67170 AAY FRIQ RIRIQ 2i8 ‘FF'?

A) 2l
B) eqim
C) aigi
D) qiel

26) Which of the following options is FALSE with respect
to the Eager Dale's Cone of Experience that incorporates
several theories related to learning processes?

A) People generally remember 20% of what they See

B) People generally remember 50% of what they See
and Hear

C) People generally remember 10% of what they Read

D) People generally remember 90% of what they Do as
they perform a task

26) QUIQ 66N 6218 AT IRy YR BUAe IR

Q2 960 26re da1eq a0 969, 6d ALEEa FYFUR 689
SEd gm 2657

A) sRIRCIEs ARIEEGE 209 (160 QHE IR CAFIER CREaE

B) criaiee RIS 50% 68 Q@ ALl 6QFIeR 69HE
9@° a3

C) eniaqien QRIREGS 10% 169 QU QIR1 627167 U938

D) sniasice ArIQESE 930% F160 Q@ Q1] 627165 9@ DIy
AHIGR 66 @0E

27) Usually a public library can be categorised under
which of the following forms of education?

A) Special education

B) Informal education

C) Non-Formal education
D) Formal education

27) ARIGESS ¥R AISKRR AI0IGIe] FAIQ F6QIR IR AU
QU2 2RIIFER 65419B FAVRAT?

A) Q688 dal

B) 2erlacite Sl
C) 2¢-Gaciae dal
D) @agide sl

28) Which of the following options is INCORRECT with

reference to the objectives of education suggested by the
Kothari Commission?

A) Increase in productivity

)
B) Introduction of physical education in schools
C) Promoting social and national Integration

D) Developing social, moral and spiritual values

28) G6qlI9 TRI 699 FREGFR 6RI0IR1 RIS FIAI AFEAIRR
RS FAIQ REY ARIRER GR?

A) agieesl 9&

B) amea q101de daik 2Iaa

C) anida 1o 1018 @°edq 69IATG 969!
D) aiqge, 6369 9a° ZRIGR GRIEIRIQ T8

29) Which of the following is one of the explanations for
UEE ?

A
B

Universe for Education Executive
Universalization of Elementary Education

)
)
C) United Education Executive
) Universal Educational Executive

D
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29) GRS FIQ 69RF YR Q QI FEQ ?

A) 81 9eea IR o1 TeChOfW0r|d

B) gleifie 8916 Q981904
C) e ge dgl 9eee
D) cleea1e 491 9eee

30) Which of the following methods did Rudyard Kipling
suggest for the effective learning of History?

A) Demonstrative learning method
B) Note taking method

C) Story telling method

D) Lecture method

30) G290 gRIEIR1 S9l IR QeAe A9 FOAUQ 699 8%
TA6Q AQAUNE 62R8/6R?

A) 9edRINe JQI ARG
B) 621 6ngQl 988

C) 98 ArRIFEA QTR KRS
D) 6nqoq 988
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Section 5 - Paperll-Odia Language
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31) gag+ea =7 36) ' 19" Q 69 99 QU ARG @3 |
A) 92099 A) qI@

B) geea B) eai@

C) gaan C) qau

D) geaa D) qi@

32) G6q)Ie AIQ 6966 Q@8 R ? 37) GRS AUQ 6996 'QRE 99Q AdUARIeT dR ?

A) qegell A) Qrl
B) gaae B) Qa

C) a1@e C) og@
D) agaie D) 3aq

33) ‘YIEQURE’ F95 6a@ FAFER S10G 621RE ? 38) 600 T4l TIQI 60T AF FARTIQ LI , VITIG K€ GRIAI
?

A) 9a Q@
A = o=
B) quae af B; EIQQI?G‘I Ga
Qa4 af AR G
C) Gag @@
D) o&¢ C) sgagide gau
D) aanq ol

34) 2@2 99 § G9a €100 62108 ?

39) ' A44RI - @2 FIF Q0T T6AEY A FIT QIR FEHTY K8l 629

A) g+iel ’
AP Techofworld.In
c
D; QT%' A) gieie

2@+l B) o
C) agsy

35) AIRYO IR 6R96 SR IR0 FARIS GR ? D) a1
A) eala
B) giete
C) geq
D) gqe
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40) QF@ TF 661620 &4 23 Aeg AR | ANTE §98 69Q
6g4l1a S8 2T ?

A) aich
B) 21aa1
C) 6qaw
D) oq @Q

41) '2°q' 9 699 22 ION4?

A) ag
B) aia
C)ag
D) ¢i@

42) ‘TIFI 2GR’ QETR 2 *'€l ?

A) glim qudeil

B) qal ua@

C) ois1 91969 99 9Q<
D) ig @al

43) FARYE FUQ 69T U@ FALIR Q@ ?

A) a4 adQl

B) qaq 216 aIee
C) 216 @s0ea|

D) 2en 9ge

44) GRS AU el UG’ 90 TAQ1e 49 ?

A) G

nee 1 €CHOTWoOrld.In
C) e

D) sgig1

45) G661 90Ig U 2D | 6AHEE J9G @ IR F6ETE ?

A) S6u0 T6aTd
B) 2qqi qloe
C) aqe Qe

D) @ Q6519
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Section 6 - Paperll-Mathematics
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46)

In the given figure, P is the centre of the circle. Radius =
41 cm and PZ = 9 cm. Find the length of the chord XY.

A) 90 cms
B) 80 cms
C) 60 cms
D) 40 cms

46)

TIPS FG6R, P 6208 98 699 | QAT = 41 637 6 PZ
= 9 6Q4 | XY Yl Q 656 6667

A) 90 628
B) 80 s
C) 60 697
D) 40 69F

47) Which among the following is the greatest four digit
number that is divisible by 10, 16, 20 and 407?

47) 699 010 e 388 Qe@r Qg 10, 16, 20 9e° 40 gl
anli=l

A) 9920

)

B) 9400
C) 9600
D) 9820

x+y+z

x+y+z

b4
)
7 oregem 2 =

o

O
B = N = NN

49) If 6y + 3x = 30 and 2y + 6x = 0, then the values of x, y
respectively are

»20  Tachofworld.In
)
)

C) (-6,2)
D) (6,2)
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49) 99 6y + 3x = 30 and 2y + 6x = 0, 666% X, y @ {m!
Q2lIges 6268

gﬁiTechoﬁNoHdJn
C) (-E;,2)
D) (

50) A creamy circle of radius 7 cm is inscribed on a square
shaped bread. If a child eats the creamy circle part, then
the remaining area on the bread is

A) 22 sq.cm
B) 24 sg.cm
C) 42 sgq.cm
D) 84 sg.cm

50) U@ Q4 682 2IRINR VKNGS AUER 7 627, UIANER FeR
@ 98 2EQ 62IRE| AT 6015 dg 6aeR G| &I 4T 2°d ¢,
606Q AINQER AR U°SR 6RARTR 6298

A) 22 Q¢ 6a A
B) 24 a4l 6a f.
C) 42 qd 6a .
D) 84 adl 6@ §.

51)lfa=3,b=-5 x=6,y=12,z = -8, then 3bx? (5a +
3b) is equal to

51) 9@ a=3,b=-5x=6,y =12,z =-8, 666@ 3bx* (5a +
3b) aAlie

52) When each side of a square is increased by 2 feet, its
area increases by 44 sq.feet. The side length (in feet) of
the square before the increase is

0

cog2
NSO
S o

52) 6J65696R 665N IG6TGR Y6SUR A1 9 T 6AIN 9&
QUL 6I6B6R6R IRIQ 6ASTR ¥¥ Qd g G& A 198 9&
999 o5 6959 AKia 634 6268

A

m

) 10
) 5

C) 40
D) 20

53) The lowest common multiple and greatest common
divisor of 24, 36 and 40 are respectively

A) 360 and 4
B) 240 and 4
C)120and 6
D) 480 and 6

53) 24, 36 9&° 40Q Qd9 ARIGE QESR IQ° S8 ARIKE
EFINR GO QeIges!

A) 360 9g° 4

)

B) 2404g° 4

C) 1204e° 6
)

D) 480 4g° 6

54) If U={12,3,4,5}, R={1,3,5}, S={34,5}, T={2.4}, then
Rnsﬁis

A) {3,5}

5s Techofworld.In
)
)

C) {2.4}
D) {1,3}
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54) @@ U={12,345}, R={1,35}, S={3.4,5}, T={2.4}, 606@ 57) If the cost price of 20 articles is equal to the selling

= rice of 25 articles, what is the percentage of profit or

RMSAL e Eercentage ofloss made by the mgrchant b%( sellir?g those
articles?

A) {3,5}

B) @ TeChOfWO rld . I n A) 20% loss

C) (2.4} B) 25% loss
C) 20% profit

O {13) D) 10% profit

55) Find the total surface area of a cylinder whose

' ) ICE 57) 98 20§ QIFIgIQ QN1 256 AN FG FimY 42 QAR 6569
diameter is 98 cm and height is 15 cm. = . = = i g
@68 MUK 63T AN AGH AR AW §Yl AT GO
A) 21612 cm? 69637
B) 20812 cm?
C) 19712 cm? A) 20% @9
D) 18672 cm? B) 25% @&
C) 20% Qe
55) 4@ GR9Q Q I 98 69F B @Sl 15 697, SIRIR 6T D) 10% @iw

4eeTd 6T @ QLR @l

A) 21612 56?2 58) For soldiers in a desert there are food provisions for

60 days. If after 15 days 500 soldiers joined them and the
B) 20812 eafi2 food lasts 40 days longer, how many soldiers are there in
= the desert?(Assume food consumption for each soldier

C) 19712 6a@?

per day is equal.)
D) 18672 sa@i?

A) 5500

B) 5000

56) If the sum of two angles is 90°, then they are known C) 4000
as D) 3000

A) Complementary angles

B) Supplementary angles 58) 66T N1gRfeq 6dFaIRe QIR 60F5Q I QYegl 0FE|
C) Adjacent angles

Q@ 1580 96a 500 @4l 630 FATIRE ATEQAIG TAT 9Q° HIQY
D) Vertically Opposite angles 2IQ 4006 A1, 6669 FIgeRica 6acend 6dRe 2887 (geeiR
6400% AR 6560 HIY QUEAIT AAIR 691N AR
56) 9T 906 614 @ 6<I5 90° €4, 6669 649G

== Tachofworld.In
A) ae@ 62K C) 4000

B) 2@ 6aig D) 3000

C) fa09 6914

D) gm¢] 9a6a 6@16 @ f1e
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59) If 65% of a number is 42 less than four-fifth of that
number, then the number is

n20 | echofworld.In

B) 140
C) 200
D) 300

59) 4@ 6Q161Q A°HYIQ 65% ILIQ FIR- VLIPS OIQ 42 K| 6069
9@ Q°qYl 6298

A) 280
B) 140
C) 200
D) 300

60) If A= {John, Peter, Mike} and B ={Jane, Ann, Laura},
then number of elements in A xB is

A) 9
B) 6
C)8
D) 4

60) 9@ A= {John, Peter, Mike} 8 B ={Jane, Ann, Laura},
6669 A x B 6Q QQIQI? Q°¢4l 6208

A) 9
B) 6
C)s
D) 4
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Section 7 - Paperll-Social Science

61) Which of the following planets is closest to the Sun?

swes - Techofworld.In

C) Mercury
D) Venus

61) FORYS AIQ 699 g2 dY @ AG0IR FaTER 2657

A) e
B) qeet
C) qu
D) g9

62) Who among the following was the chairman of union
constitution committee?

A) J.B. Kripalani

B) Jawaharlal Nehru
C) Dr. Krishnamachari
D) Dr. B.R. Ambedkar

62) FEAIRAIOE AQ &4 A°Q1e QRIS QTGS 21D 2em?

A) 66.Q. URE
B) @cigonim 62629
C) ¢. gaLISR!
D) @ S.21Q. 2l6geea

63) The value of the latitude at the poles is:

A) 90°
B) 0°
C) 45°
D) 66.5°

63) 6719 FRTER AVIER MY 696S 61NN ?

A) 90 @en
B) 0 @91
C) 45 @q1
D) 66.5 @9

64) Which of the following layers of the Earth is made up
of rocks in molten state?

A) Crust
B) Inner core
C) Quter core
D) Mantle

64) G66]B F12IQ 699 IR GAR ALAIER QI TR TRl FAE?

A) ge]

B) @ioa sags age
C) QIgy 6999 28R
D) aigiee

65) Which of the following did Gandhi find to protect the
rights of Indians in South Africa?

A) South African Congress
B) African Congress

C) Natal Indian Congress
D) Indian Congress

65) @f¢ TR NN KA o8l AR F6aID
219 6@60 G0 PRLIeR?

A) 924 21F91 }°694
B) 21g«12. a°694
C) QIoIn @I0918 @°694
D) @eeia a°6gQ
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66) Which of the following options is the lowermost layer

of the atmosphere?

amesesree | @CHOTWOTrId.IN

B) lonosphere
C) Stratosphere
D) Troposphere

66) FORGEe FREGER AUQ 6REE QIYAARR ASRE 9a 2T
7]

A) 60169@09
B) ang6r@on
C) glseidaq
D) geaidaq

67) What was the name given to the type of marriage in
Hindu religion, in which a marriage between a man from a
higher caste with a woman from a lower caste was
prevalent as a social practice in Vedic age?

A) Pratiloma
B) Tratiloma
C) Anuloma
D) Martiloma

B7) 6564 QIR €8 ANIFR MRAR QUER JoRe, G §IF @

@68 CEQ AF0 a9 QIFa geE Auea dalr § 9 4 6a
FIRRYE FUQ 69Q Q19 FAIRNI?

A) gBemie
B) gBemin
C) agemiel
D) c1dsmiel

68) Which of the following constitutions is described as
Elephantine constitution?

A) Britain Constitution
B) Indian Constitution
C) French Constitution
D) American Constitution

68) G6ElI8 FIQ 609 QARG Q61 A8 Fale ARJIG AUINEE
Q4Ql AARIREG?

A) Gegq QRalie

B) @ieeig anaie
C) oqual afalie

D) 2ise@aia afalIe

69) Which among the following statements CORRECTLY
defines 'Current fallow land'?

A) Land left without cultivation for more than a year but
less than five years

B) Land not used for cultivation

C) Land left without cultivation for one or less than one
agricultural year

D) Land which is left uncultivated for more than five years

69) ACAGE FIQ 699 9B A0R AES '0FS 2RI QECAIGH
aGe @f' @ QUISH KQAT ?

A) e odg 694 @ QIg Adg @9 A9 AIR 98 Gr62 e
621Q & QI R4

B) Q@ Gree Q4990 621 & &9 &F

C) 4@ ad QI 61 0Ip 97 D AR 98 768 QYLYE 621R @
2l GFl

D) qig edg 2@ Q99 Ain Q8 GrI68 QUQLE 621R & 2RI &5

70) How many members can Governor nominate to the
Legislative Council?

A) One-fourth

C) One-third

o Techofworld.In
)
)

D) One-sixth
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Vi vumae euoa s

70) QISDIR 6266 F¢ Qg FIe 0dee IR FIFe

@BaIaea? Techofworld In

A) @ ogera
B) &l

C) e go1ara
D) ve garg

71) Which of the following states was the first to implement
the Panchayat Raj system in India?

A) Rajasthan

B) Bihar

C) Odisha

D) Uttar Pradesh

71) GORYS AUQ 690 AR AIRGER ASYRIEE TRIAFAIR 49
FINRIQ RSP

72) What is the name given to the horizontal lines drawn
in the east-west direction on the globe?

A
B
c
D

Latitudes
Meridians
Longitudes
Grid

S i it

72) Q69INS QI 6QIQ 68 gog 9dA Gag ATE RIS
6OQIIATR] 699 AIN GalIcTIRg ?

A) ZRaraQqe
B) cude sadiage
C) gidage

)

D) gie

Join Us-

EMLCEEA L Eaeaona s i

73) Which among the following options is an example for
community owned resource?

A) Plots

B) Burial grounds
C) Houses
D) Farm lands

73) GRG0 CIQ 606 JRIRA AR ARG 2GS ANRQ IR
QQIRQE 26T ?

A) @ial

B) cieagia aie
C) gz

D) & eag

74) Who among the following was the founder of the
Mughal Empire in India?

A) Akbar

B) Babur

C) Jahangir
D) Aurangzeb

74) G6¢1IB Flg @9 QNIRSER 6ClTm AIFIFIQ goaISl gem?

A) ziIaeq
B) qiea

C) creigna
D) Gaereaq

75) Which of the following options was Gandhi's first mass
resistance movement against the British rule in India?

A) Civil Disobedience Movement
B) The Champaran Satyagraha
C) Salt Satyagraha

D) Non-Cooperation Movement
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75) QONGQ FUQ 6996 QIR U 89 JOaR ZERIGS

®  Techotworld.In

A) QR0 2QR 2IERING
B) o¢108 Qauige

C) AQd QuIge

D) 2agcaia 2ieriee
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Section 8 - Paperll-Science

Techofworld.In

76) The thermal radiation from a hot body travels in
vacuum with a velocity of

A) 1200 m/s

)
B) 2 x108m/s
C) 330 m/s
D)3x10%m/s

76) 4@ Q@9 999 ST R4 §RI6a 6T AR9IR 699 62eE

A) 1200 m/s
B) 2 x 108 m/s
C) 330 m/s

D) 3x 10 m/s

77) Maximum density of H20 is at the temperature of

78) A particle moves in a straight line with retardation
proportional to its displacement. Its loss of Kinetic energy
in any displacement x is proportional to

A) logex

O W

)
)
)
)

X
X2
e

=)

Join Us-

78) e @dal 9le SY0F 42 dAIQUISR QIEQ FIIER
AARERHIER 9T @69 | 6QIGT LR X6Q 67 20 YA AL
Q2 AAIgaIe

A) logex
B) x
C) x?
D) e

79) When adaptation becomes functionless it is usually
known as

A) Co-adaptations
B) Vestigial

C) Exaptations

D) Acculturation

79) 606G696R QYRR FIF QAR 9L FRTY QLG AICELS
QE QRIAIN?

A) 6121916997
B) codfn

C) «qeqae

D) slenosaas

80) Which among the following options is the actual site
of light reaction in the process of photosynthesis?

A) Golgi Complex

B) Chromoplast

C) Grana Membranes
D) Stroma Membranes

Techofworld.In
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80) QIFRIQ 6RE AT 6298 ABNR LI JTNER AR

goaole Q18e Ie?

neassss | @chofworld.In

B) egieaiga
C) giql @
D) egic1 @1

81) A balanced chemical equation is in accordance with
which one of the following laws?

A) Avogadro's hypothesis

B) Law of ideal gas theory

C) Law of conservation of energy
D) Law of conservation of mass

81) 4@ AgRO QAR gETL FANUQ 699 A9 QAR &I?

A) 2100l6gIE LIRsIsadd
B) a1ed quid gBat Fan
C) 68 Q"aad Gaa

D) egQ Q089 Ha¢

82) In a Euphorbia plant, which of the following
adaptations is usually seen?

A) Yellow coloured leaves
B) Toxic sap to deter insects

C) High cuticle deposition on leaves
D) Waxy leaves

82) Y@ QETIRT QEL6A, FAMRIQ 606 2GYRR AR
6QHIAIN?

A) 2082 e 99

B) q16g8q 6a1a%l dil §9I8 0
C) 0g 206a 2@ 680 &6 adaal
D) qo¢ @& 98

83) A vector A points vertically upward and vector B points
towards north. The vector product A X B is

A
B
Cc
D

Zero

Along west
Vertically downward
Along east

e e

83) Y@ Aad 958 @9 A Q4R ZIG] Fl8 A08 1e° ATH 968 @
B 981 219Q (g Q88 | 984 A X Ba 9912 6208

A) gy

B) adiq aigq

C) afie @I9sa 67 219
D) g< aigg

84) Which microorganism produces statins that are
commercialised as blood-cholestrol lowering agents?

A) Monascus purpureus
B) Lactobacillus

C) Acetobacter aceti

D) Aspergillus niger

84) 654 YRIFIS ACR OUIQ F6Q KIT AVER EREAAN ARG
1604 QIR ETIRIR V60 ISTIQ FRULYNI?

A) 6r199ea adaiRia

B) aieqeidag

C) «dsciuiqe 9@s
)

D) 2120804 Q19

85) Which of the following options is INCORRECT
regarding "prevention of rusting iron articles"?

A
B
c
D

It should be painted

It should be immersed in water
It should be galvanized

It should be oiled and greased

— o
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85) 'pel FAEYER6a ow AIGSI ARSI ANAER FANUQ 699

= Techofworld.In

A) 26Q QEF FAUDR ISR

B) weiq 1di6q QIR 9gQl A8
C) eI InNEAIas 283l 2I9aye
D) 426Q 660 8 G% MO AIedy

86) A drop of water of radius 0.0015 mm is falling in air. If
the coefficient of viscosity of air is 2.0 X 10°kg/ms, the
terminal velocity of the drop will be (The density of water
=1.0 x10®kg/m®and g = 10 m/s?)

A) 5.0 x10*m/s
B) 1.0 x10“*m/s
C)2.0x10*m/s
D)2.5x10“*m/s

86) 0.0015 mm QAR GI8 9@ G ¥4I QIPER AGE 19T QIg
ARSI Y49 2.0 X 10° kg/ms 606Q FP4IR 236 699 629
(@99 968 = 1.0 x 10° kg/m?® ¥e® g = 10 m/s?)

A) 5.0 x10* m/s
B) 1.0 x 10* m/s
C)20x10*m/s
D) 25x10* m/s

87) A police jeep moving with a velocity of 45 km/h is
chasing a thief in another jeep which is moving with a
velocity of 153 km/h. Police fires a bullet with muzzle

velocity of 180 m/s. The velocity with which it will strike the
jeep of the thief is

A) 150 m/s
B) 270 m/s
C) 900 m/s
D) 600 m/s

87) 45 km/h 626l §88 6aImg &9 153 km/h 6396Q QIQ2
2R 99 GFIe0 2l 6910 6AIPRE | 6aIRg 180 m/s F684

6991 2191 YR @ ORIRAI | 606 6966Q 2l 6910Q FOq 2IAIe
603 QIR 6298

A) 150 m/s

)

) 270 m/s
C) 900 m/s
D) 600 m/s

B

88) Which of the following diseases is NOT caused due to
fungal infections?

A) Candidiasis

B) Ringworm

C) Histoplasmosis
D) Otitis Media

88) @ﬂﬂd@ 604 600 @Y LGLEQ 6LIRREIN?

A
B

) QuEGeIda

) Gerad (s 9F)
C) @eaigiesaida
D) 65Ga fgal

89) Penicillium is a genus of which of the following
microbes?

A) Protozoa
B) Fungi
)
)

oo Techofworld.In

D) Algae

89) 6UATRLS 604 AIREFINR IRIG?

A) 6giegIeIl
B) @
C) @med

)

D) zimeq
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90) In a cell wall, the membranous bridges that
interconnect the neighbouring cells of a plant cell are
known as

A) Ectoplasm TeCh OfWO rld E I

B) Cell Membrane
C) Protoplasm
D) Plasmodesmata

90) 9% 6919 g6 2l CR1 §8 Il 9@ AW 6RIT6Q
A6RIE1 6RVYE R AEE A°YS 2N QILIQ K¢ QLIAN?

A) 96QIR¢

B) 6218 a1

C) 6g6oI1QIen
D) Qiesqieegis!

JoinUs-' > f
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Answer Key

bl

N RN RN RNNDNRNNDR — — = o o o = D
Mo Pe EE Mhi ol W8 I e R M0G0 My B o e I e T
O WO OO0 B> P> >WE0O0>>00PFO0OCONQPFP > C

30.

32
33.
34.
35
36.
37.
38.
39.
40.
41.
42.
43.
44.
45.
46.
47.
48.
49.
50.
51
52,
33,
54.
33;
56.
57.
58.
Y.
60.

) e (A > OO0 P 000020000000

61.
62.
63.
64.
65.
66.
67.
68.
69.
70.
g 8
2.
73
74.
o
76.
71
78.
19.
80.
81.
82.
83.
84.
83.
86.
87.
88.
89.
90.
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